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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In
[Registration No.

[Name :

[Exam Venue : iON Digital Zone iDZ Kanti
[Exam Time : 12:30 PM - 2:00 PM
[Exam Date : 01/03/2019

Section : General Section

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
Man : Mammal : : Butterfly :
Ans 1 Caterpillar
v 2 Insect
X 3. Bird
X 4. Reptile

Question ID : 9895808169
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
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Question ID : 9895808179
Chosen Option : 2

Q.3 If SCIENCE is coded as 14 and MATHS is coded as 10, then what will be the code for EXAMINATION?
Ans X 1. 21

V2 22

X3 11

X4 23

Question ID : 9895808170
Chosen Option : 4

Q.4 A square transparent sheet with a pattern is given. Select from among the four alternatives how the pattern would appear
when the transparent sheet is folded at the dotted line.

Ans
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Question ID : 9895808187
Chosen Option : 1

Q5 Select the number-pair that is different from the rest.
Ans X 1. 7-49

X 216256
X3 12-144
4 13-196

Question ID : 9895808180
Chosen Option : 4

Q.6 Six friends. Anitha, Punitha, Chithra, Deepthi. Harini and Vani, are sitting in a field. Anitha and Punitha are from the
Green house, whereas the rest belong to the Red house. Deepthi and Vani are tall, whereas the others are short. Anitha,
Chithra and Deepthi are wearing saris, whereas the others are wearing frocks.

‘Who among them is tall and from the Red house but not wearing a sari?
Ans X 1. Deepthi

& 2. Anitha

v 3 Vani

X 4. Chithra

Question ID : 9895808174
Chosen Option : 3

Q.7 Read the given statements and conclusion carefully and decide which of the following options is true with respect to the
given conclusion.

Statements:

Men who are handsome are generally of the intellectual type.
Vikram is handsome.

Conclusion:

Vikram is intellectual.

Ans 1. Probably false
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' 2. Probably true

/< 3. True
X 4. False

Question ID : 9895808176
Chosen Option : 3

Q.8 Which two signs/numbers need to be interchanged to make the given equation correct?

§52 +4=10
Ans X1 =+ and +, 8and 4
X2 + and+

/X3 +and +, 8and2
4 +and = 2and 4

Question ID : 9895808181
Chosen Option : 3

Q9 Select the option in which the given figure is embedded.

-
7|

Ans

v

VAN

Question ID : 9895808184
Chosen Option : 3

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.
NATION

Ans  of 1 TIOITAU
X 2. IATION
X 3. NOITAN
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X 4 NATION

Question ID : 9895808186
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1  istrue, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
Some girls are women.
No woman is brown.
Conclusions:
I, Some girls are not brown.

II. Some women are girls.

Ans

/< 1. Only conclusion II follows.
/< 2. Only conclusion I follows.

v 3. Both conclusions I and IT follow.
X 4. Neither conclusion I nor II follows.

Question ID : 9895808175
Chosen Option : 2

Q.1 Seven friends — Ajith, Bala, Hari, David, Raja, Sekar and Guna — are sitting around a circular table. David is not the
2 neighbour of Hari and Raja. Ajith is the neighbour of Bala and Hari. Guna, who is second to the left of David, is the
neighbour of Sekar and Raja.

‘What is the position of Hari?

Ans X 1. To the immediate left of Ajith
< 2. To the immediate right of Raja

¥ 3 Third to the left of Sekar
X 4 Second to the left of Bala

Question ID : 9895808172
Chosen Option : 2

Qél Select the number that will come next in the following series.

1.5.9, 17, 25,37, 49,65, 81,
Ans Xl- 09
X 2 110
X< 3. 100
v 2 101

Question ID : 9895808177
Chosen Option : 4

Q.1 Four words have been given out of which three are alike in some manner. while one is different. Choose the odd one.

A:s v 1 cub
X2 sty
X 3. Hive
X 4. Kennel
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Question ID : 9895808166
Chosen Option : 2

Q5'1 Select the word-pair that is analogous to the given word-pair.

Bird : Fly

Ans X 1. Cat : Kitten
X 2. Fox : Vixen
< 3. Cattle : Herd
' 2 Horse : Gallop

Question ID : 9895808168
Chosen Option : 4

%1 Select the number that DOES NOT belong to the following group.

1,2. 6,21, 88, 446, 2676
Ans x 1. 6

v 2 446

X321

< 4 88

Question ID : 9895808178
Chosen Option : 3

Q.1 Seven students are standing in a row. B is standing to the left of C and to the right of A. D is standing to the right of E
7 and to the left of A. F is standing to the right of C and to the left of G. Who is standing in the middle?

Ans X1 F
52
F 3
v

W Qg

Question ID : 9895808173
Chosen Option : 4

Q.1 Select the Venn diagram that best illustrates the relationship between the three given classes.
8

Carrot, Vegetables, Meat

Ans

K2
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Question ID : 9895808188
Chosen Option : 2

Q.1 In the following fraction series, two fractions have been put within brackets. Study the series carefully and select the

9 correct alternative with respect to the series.

2 4 8 8 10 12 14
V55755 ’(E)’?\E’E i (125\/3)

Ans 1. Both the bracketed fractions are incorrect.
X 2.

The first bracketed fraction (from the left) is correct and the second is incorrect.

K3

The first bracketed fraction (from the left) is incorrect and the second is correct.

' 2 Both the bracketed fractions are correct.

Question ID : 9895808182
Chosen Option : 1

%2 Select the term that will come next in the following series.

BMO, EOQ, HQS, KSU, .
Ans X 1 MTV

v 2 NUW

X3 NTV

X 4 NVW

Question ID : 9895808164
Chosen Option : 1

Q2 Identify the odd one from the following.
Ans of 1 kmn

X 2 prt

X 3. bdf

X 4 suw

Question ID : 9895808165
Chosen Option : 1

Q.2 Four pairs of words have been given, out of which three are alike in some manner. while one is different. Choose out the
2 odd one.

Ans - X 1. Distance : Odometer
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v 2. Wind : Taseometer
/< 3. Current : Ammeter
< 4 Humidity : Hygrometer

Question ID : 9895808167
Chosen Option : 1

%2 Select the figure that will come next in the following series.

2% &R (K2

A B C D E

Ans

W
x| 182,
A
W

Question ID : 9895808183
Chosen Option : 3

Q.2 IfEis denoted by F, D is denoted by B, R is denoted by K. U is denoted by V, T is denoted by I, A is denoted by C, G is
4 denoted by X and H is denoted by W, then how will the word DAUGHTER be written?

Ans X' 1. BCWXVIFK
X 2. BCWXWFIK
X 3. BCVXWIKF
v 4 BCVXWIFK

Question ID : 9895808171
Chosen Option : 4

Q.2 . ;
5 Select the correct option to complete the following pattern.

Ans
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Question ID : 9895808185
Chosen Option : 3

.2 " " " . .
Q6 Which of the following is a contagious disease?

Ans X 1. Diabetes
< 2. Stroke
v 2 Tuberculosis
X 4 Asthma

Question ID : 9895807246
Chosen Option :.2

Q7'2 In which year was the constitution of Jammu and Kashmir adopted?

Ans X 1. 1954
X 2. 1950
V'3 1956
X 4. 1958

Question ID : 9895807239
Chosen Option : 3

Qéz A group of fish is called a:

Ans  of 1 school
X 2. army
X 3. standard
X 4 bus

Question ID : 9895807244
Chosen Option : 2

Q.2 Inspired by the constitution of which of the given nations has India added the feature of ‘Directive Principles’ in its constitution?

9
Ans X 1 USA
/X 2. Germany
v 2 Treland
X 4. Russia

Question ID : 9895807241
Chosen Option : 4

%3 On which day is the World Population Day celebrated?

Ans ¢
X 1 ond Jype
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X 2 15t August
X 3 sth September

Vv o1t gty

Question ID : 9895807249
Chosen Option : 1

Q.3 What was the approximate distance that Mahatma Gandhi marched for the Salt Satyagraha Movement?

1

Ans  of 1. 241 miles
& 2. 350 miles
/< 3. 400 miles
& 4. 123 miles

Question ID : 9895807252
Chosen Option : 3

Q.3 The Bretton Woods Agreement led to the creation of which one of the following institutions?
2

Ans X 1. United Nations

52

United Nations Educational, Scientific and Cultural Organization
« 3 International Monetary Fund

< 4. International Labour Organization

Question ID : 9895807237
Chosen Option : 1

%3 What is the national sport of China?
Ans X 1. Cricket

& 2. Football

X 3. Rugby

v 4. Table Tennis

Question ID : 9895807232
Chosen Option : 3

Q3 What is the first age in the prehistoric period called?
Ans  of 1. Palaeolithic age
X 2. Metal age

/X 3. Copper age
X 4. Neolithic age

Question ID : 9895807250
Chosen Option : 4

%® On which date is the International Mountain Day celebrated?

Ans XK1 14t November
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v 2 1™ December

X 3. 2nd October
X 4 13t January

Question ID : 9895807248
Chosen Option : 2

%3 Who is the author of the book ‘Flight of Pigeon'?

Ans 1. Shobha Dey
& 2. Gita Piramal
/< 3. Sudha Murthy
' 4. Ruskin Bond

Question ID : 9895807234
Chosen Option : 4

Q_,'3 The run-and-touch game of ‘Kho Kho’ originated in which Indian state?

Ans X 1. Kerala
& 2. Jammu and Kashmir
X 3 Goa
v 4 Maharashtra

Question ID : 9895807231
Chosen Option : 1

Q-3 The Living Root Bridges are a rare ecological phenomenon seen in which state of India?
8

Ans 1. West Bengal
' 2. Meghalaya
X 3 sikkim
/< 4. Mizoram

Question ID : 9895807245
Chosen Option : 1

Q§3 The volk of an egg contains more than 90% of which of the given vitamins?

Ans X 1. Vitamin C
v 2 Vitamin B12
& 3 Vitamin K
& 4 Vitamin A

Question ID : 9895807243
Chosen Option : 1

Q0-4 A seesaw is an example of which concept of physics?

Ans X1 Current
X 2. Time
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X 3. Electricity

\f 4. Force

Question ID : 9895807242
Chosen Option : 2

Q.4 While trying to promote growth by tax cuts as the fiscal policy, which type of policy is the government trying to follow?
1

Ans o 1 Expansionary
/X 2. Contractionary
/X 3. Easy money

/< 2. Tight money

Question ID : 9895807236
Chosen Option : 1

Q.4 Who among the following has been conferred the Rajiv Gandhi National Sadbhavana Award 2018?
2

Ans X' 1. Anna Hazare

X 2. Medha Patkar

/< 3. Kailash Satvarthi

v o Gopalkrishna Gandhi

Question ID : 9895807235
Chosen Option : 2

Q3§4 Urs Festival in Ajmer commemorates the death anniversary of which Sufi Saint?

Ans o 1. Khwaja Moinuddin Chisti
& 2. Hazarat Nizamuddin
& 3. Mian Mir
X 4. Salim Chishti

Question ID : 9895807229
Chosen Option : 2

Q‘i“ ‘Kunbi Dance’ is a popular dance associated with which Indian state?

Ans X 1. Mizoram
X 2. sikkim
& 3 Jammu and Kashmir
v 2 Goa

Question ID : 9895807228
Chosen Option : 1

QF;4 Who was the legendary co-founder and retired chairman of Indian tech giant Infosys?
Ans X 1. Ashish Goel

+ 2. N R Narayan Murthy

/X 3. Yashish Dahiya
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/< 4. Navneet Singh,

Question ID : 9895807233
Chosen Option : 2

Q.4 What do we call the stock of food grains purchased by the Government of India from the farmers through the Food
6 Corporation of India (FCI)?

Ans X 1. Incentivized stock
& 2. Return stock
X 3. Subsidized stock
v 2 Buffer stock

Question ID : 9895807238
Chosen Option : 4

Q7'4 In which vear did the French traveller Francois Bernier arrive in India?

Ans X1 1656
v 2 1658
X 3 1678
X 41662

Question ID : 9895807251
Chosen Option : 4

4 . :
Qs What does the 103 constitutional amendment deal with?
Ans X' 1. Women’s reservation

v 2. Economic reservation
/< 3. Right to education

/< 4 Right against exploitation

Question ID : 9895807240
Chosen Option : 4

Qé“ In which year did Emperor Akbar build the Buland Darwaja?

Ans 1. 1502
X 2 1526
X 3 1534
v 2 1601

Question ID : 9895807230
Chosen Option : 4

Q0'5 Which of the following is the longest river in Europe?
Ans 1. Mekong

< 2. Zambezi

X 3. Sepik

' 2 Volga

Question ID : 9895807247
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l Chosen Option : 3

Q.5 A, B and C can do a piece of work in 20, 40 and 80 days respectively. In how many days can A do the work if he is
1 assisted by B and C on every third day?

Ans X 1. 7 days
/< 2. 15 days
/< 3. 18 days
W 2 16 days

Question ID : 9895807569
Chosen Option : 2

Q.5 Case A. In a certain store, the profit is 340% of the cost.
2 CaseB. If the cost increases by 32% but the selling price remains constant, approximately what percentage of the

selling price is the profit in case A?
Ans X 1. 100%

X 2 32%

V'3 70%

X 4. 320%

Question ID : 9895807562
Chosen Option : 4

Q.5 A circle, with radius 8 cm, which has the area equal to the area of a triangle with base 8 cm. Then the length of the
3 corresponding altitude of triangle is:

Ans X1 38T cm
V2 16T cm
X3 8w cm
X 4187 cm

Question ID : 9895807572
Chosen Option : 3

Q.5 The captain of a cricket team of 11 members is 28 years old and the wicket keeper is 4 years older than him. If the ages
4 of these two are excluded. the average age of the remaining players is two years less than the average age of the whole
team. What is the average age of the team?

Ans X 1. 15 years
/X 2. 22 years
o 3 21 years
/< 4. 29 years

Question ID : 9895807557
Chosen Option : 2

Q.5 Two numbers are respectively 25% and 50% more than a third number. The ratio of the first number to second number
5 is:

Ans X1 1:2
X2 21
X 3 65
V56

Question ID : 9895807563
Chosen Option : 1
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Q5
6 4244

3
Ans Xl_ 8]
X 23
’<36
V2

+3x2-3 of4dis

Question ID : 9895807554
Chosen Option : 4

Q.5 Ahollow iron pipe is 28 cm long and its external diameter is 10 cm. If the thickness of the pipe is 2 cm and iron weighs
7 5 g/cm? | then the weight of the pipe is:

Ans of 1 704 g
K2 7.04g
N3 Tdg

K4 740¢g

Question ID : 9895807573
Chosen Option : 1

Q.5 A train can travel 50% faster than a car. Both start from point A at the same time and reach point B, 60 km away from
8 point A, at the same time. On the way, however, the train lost about 12.5 min while stopping at the stations. The speed

of the car is:

Ans X 1130 kmvh
< 2100 kmvh
& 3 110 km/h
v 4 96 km/h

Question ID : 9895807571
Chosen Option : 4

Q.5 The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the
9 pie-chart and answer the questions based on it.
Various Expenditures (in percentage) Incurred in Publishing a Book

Promaotion Cos

10% Transportation
Cost
10%

Binding Paper Cost

A 25%

Royalty on the book is less than the paper cost by:
Ans X 1. 25%
X 2. 30%
X 3. 50%
v i 40%

Question ID : 9895807577
Chosen Option : 3

Q.6 If the mean of the observations x, x +4, X~ 5, x = 7, x + 9 is 9, then the mean of the last three observations is:
0

Ans
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X117
X210
v 11
X4 8

Question ID : 9895807559
Chosen Option : 4

Q.6 The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the
1  pie-chart and answer the questions based on it.
Various Expenditures (in percentage) Incurred in Publishing a Book

Promaotion Cos

10% Transportation
Cost
10%

Binding
2

Paper Cost
L 25%

What is the central angle of the sector corresponding to the expenditure incurred on binding?
Ans J 1. 920

X2 90°

X 3 48°

X4 70°

Question ID : 9895807576
Chosen Option : 2

Q.6 A family consists of two grandparents, three parents and four grandchildren. The average age of the grandparents is 65
2 vears, that of the parents is 32 years and that of the grandchildren is 8 years. What is the average age of the family?

Ans X 1. None of these
v 28% years
/X 3. 28 years

X a 28% years

Question ID : 9895807556
Chosen Option : 3

Q.6 A person has planned to sell his old typewriter for 4500, he would lose 10%. To gain 20% of profit, he should sell it

3 for:

Ans  of 1 26000
X 2. 7000
< 3 %7200

X 4 F8500

Question ID : 9895807561
Chosen Option : 1

Q.6 Salaries of Ravi and Sumit are in the ratio 2:3. If the salary of each is increased by 3000, the new ratio becomes 35:50.
4 What is Sumit's new salary?

Ans 1. %18,000
X 2. 321,000
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X 3 %27.000

v 4 %30,000

Question ID : 9895807565
Chosen Option : 2

Q.6 The compound interest on T40,000 at 6% per annum is 4,944, What is the period (in years) for which the amount is
5  invested?

Ans X 1. 5 years
/X 2. 4 years
/< 3. 3 years
o 4 2 years

Question ID : 9895807567
Chosen Option : 2

Q.6 Ahallis 15 m long and 12 m broad. If the sum of the areas of the floor and the ceiling is equal to the sum of the areas of

6 four walls, the volume (in m?) of the hall is:

Ans X 11600
< 2. 900
v 31200
X 4 720

Question ID : 9895807574
Chosen Option : 4

Q.6 If a person had walked at the speed of 15 km/h instead of 10 km/h. he would have walked 25 km more. The actual
7 distance travelled by him was:

Ans X170 km
X 2 56 km
V2 50 km
< 4 80 km

Question ID : 9895807570
Chosen Option : 1

Q.6 Raman paid T13,300 as simple interest after 9 years. He had borrowed some money at the rate of 6% for first two years,
8 a1 99 for next three vears and at 14% for rest of the period. How much money (in ) did he borrow?

Ans X" 1. 10,000
W 2. 14,000
X 312,500
X 412,000

Question ID : 9895807566
Chosen Option : 3

Qée If 15 workers can earn 1,800 in 10 days. Find the earning (in ) of 5 workers in & days.

Ans X' 1. 400
< 2. 360
< 3 540

v 2 480
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Question ID : 9895807568
Chosen Option : 2

Q.7 The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the
0 pie-chart and answer the questions based on it.

‘Various Expenditures (in percentage) Incurred in Publishing a Book

Promaotion Cos

Transportation
Cost

Royalty %

15%

Binding

Paper Cost
25%

Question:
If for a certain quantity of books, the publisher has to pay ¥30,600 as printing cost, then what will be amount of paper
cost to be paid for these books?

Ans X 1. 328,250
v 2 238,250
X< 3. 38,000
X 4. 330,250

Question ID : 9895807575
Chosen Option : 1

Q.7 Find the greatest number that will divide 47, 95 and 187 so as to leave the same remainder in each case.
1

Ans Xl- =
X213
X309
via

Question ID : 9895807553
Chosen Option : 4

Q.7 Raj got a new chair at 35% discount. Had Raj got no discount, Raj would have had to pay ¥238 more. How much did
2 Raj pay for the chair?

Ans X 1. 3452
v 2 442
X 3 416
X 4 %424

Question ID : 9895807558
Chosen Option : 2

Q.7 In amixture of 60 L, the ratio of milk and water is 2:3, then the quantity of water in the mixture is:

3

Ans X1 20L
X2 45L
v 36L
X4 16L

Question ID : 9895807564
Chosen Option : 3
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Q: What percentage of numbers from 1 to 80 have 1 or 9 in the units digit?

Ans x 1. 1%
V2 20%
<3 21%
X 4 14%
Question ID : 9895807560
Chosen Option : 3
Q7 e
5 Simplify:

8.65-[4+0.5 of (8.8 - 2.3 x 3.5)]

Ans X 1. 4.725
v 2 4275
X 3. 3275
X 4. 4.527

Question ID : 9895807555
Chosen Option : 3

Section : English Language

Q1 Select the word which means the same as the group of words given.

Someone in love with himself.
Ans X 1. Philologist
/< 2. Humanist
v 2 Narcissist
7< 4. Philanthropist

Question ID : 9895807900
Chosen Option : 2

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.

The book provide ample guidance and practice in learning English conversations effectively for all age groups.

Ans  of 1. The book provide
X 2. for all age groups
/< 3. ample guidance and practice

/& 4. in learning English conversations

Question ID : 9895807880
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.

Sometimes a person's intelligence is not fully appreciated he/she gets an opportunity.

Ans 1. upto
X 2. later
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v 2 until
X 4 unless

Question ID : 9895807886
Chosen Option : 1

Q.4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select No improvement.

Passengers are requested to go for security check before they proceed to board the flight.

Ans X 1. are request to go for
X 2. are requests to go for
/< 3. are requesting to go for

v 2 No improvement

Question ID : 9895807884
Chosen Option :.1

Q.5 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select No improvement.

My neighbour along with his children is going tonight to watch a movie based over the life of martyrs.

Ans o 1 amovie based on the life of martyrs
/< 2. No improvement
< 3. a movie basing on life of martyrs

< 4. a movie base on the life of martyrs

Question ID : 9895807882
Chosen Option : 1

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food. extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 6
Q-6 Select the most appropriate option that will fill in

the blank number 1.
Ans 2 1. magnified
< 2. destroyed

< 3. tolerated
+ 4 managed

Question ID : 9895807888
Chosen Option : 4

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.
SubQuestion No : 7
Q7 Select the most appropriate option that will fill in
the blank number 2.

Ans o 1. checked

< 2. decreased
/< 3. distinguished
< 4. satisfied

Question ID : 9895807889
Chosen Option : 1

Comprehension:
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In the following passage some words have been

deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 8
Q-8 Select the most appropriate option that will fill in

the blank number 3.

Ans  of 1 with
< 2 of
< 3 at
X 4 for

Question ID : 9895807890
Chosen Option : 4

Comprehension:

Page 22 of 36 Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 9
Q-9 Select the most appropriate option that will fill in

the blank number 4.

Ans X 1. amputation

o 2. surgery
/< 3. segmentation

< 4 dissection

Question ID : 9895807891
Chosen Option : 3

Comprehension:
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In the following passage some words have been

deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food. extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 10
Qo-l Select the most appropriate option that will fill in

the blank number 5.
Ans X' 1. avoids
W 2 depends

/< 3. ignores
< 4. loathes

Question ID : 9895807892
Chosen Option : 2

Q1'1 Select the option that means the same as the given idiom.

To pull oneself together
Ans 1. To hide important facts and reasons
/< 2. To put necessary matters on the table
/< 3. To keep working constantly with attention
« 2 To calm oneself and begin to think or act

Question ID : 9895807898
Chosen Option : 1

Qz'l Select the correctly spelt word.
Ans  of 1. Rehearsal
& 2. Rehersal
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/< 3. Reehersal
X 4. Rehearsel

Question ID : 9895807901
Chosen Option : 4

Q3;1 Select the option that means the same as the given idiom.

To be fair and square

Ans X' 1. To be fair in colour
v 2. To be honest
X 3. To be good at drawing

< 4. To be in a good physique

Question ID : 9895807897
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

4 substitute it, select No improvement.

No sooner he has returned to home than his boss called him for an urgent meeting.

Ans o 1 No sooner had he returned home

< 2. No sooner he returned to home

/< 3. No sooner he have returned to home

/X 4. No improvement

Question ID : 9895807883
Chosen Option : 4

Q5'1 Select the antonym of the given word.

EXTRAVAGANT
Ans o 1. Economical
X 2. Factual
X 3. Untrue

< 4 Wonderful

Question ID : 9895807896
Chosen Option : 1

Q.1 Select the most appropriate word to fill in the blank.

6
A person’s individual risk for many diseases mostoften ~ from a combination of genes, environment and lifestyle.
Ans of 1 stems
X 2 checks
< 3. diagnoses
/< 4. stops

Question ID : 9895807904
Chosen Option : 4
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Q_,-l Select the most appropriate option to fill in the blank.

People can only form new habits when they _ particular patterns of behaviour.
Ans 3 1. has adopted
/< 2. having adopted
X 3. had adopted
' 2 have adopted

Question ID : 9895807885
Chosen Option : 3

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
8

Taking the help of people with rich experience of life will saves you much time and effort.

Ans 3 1. Taking the help of

/< 2. much time and effort
/< 3. people with rich experience

' 2 will saves you

Question ID : 9895807881
Chosen Option : 4

1 .
Q9 Select the synonym of the given word.

STRAY

Ans X 1. Slight
v 2 Wander
/< 3. Steady

X 4. Gruesome

Question ID : 9895807894
Chosen Option : 1

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
0

Just because you are learning a language does not mean you need to limiting vour thinking.
Ans - X 1. does not mean
' 2. need to limiting your thinking
# 3. Just because

< 4. you are learning a language

Question ID : 9895807879
Chosen Option : 2

Q2 Select the most appropriate word to fill in the blank.

This is a good time for all of us to a new year’s party.
Ans X 1. collect
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& 2. initiate
& 3. invite

« 2. organize

Question ID : 9895807903
Chosen Option : 4

Qz'z Select the word which means the same as the group of words given.

A large number of fish swimming together.
Ans X 1. Herd

X 2. Pack

X 3. Mob

v 4. Shoal

Question ID : 9895807899
Chosen Option : 2

Q2 ;
5 Select the synonym of the given word.

ADULTERATED
Ans X 1. Combined

X 2. Fused

v . Contaminated

X 4. Concentrated

Question ID : 9895807893
Chosen Option : 4

%2 Select the correctly spelt word.
Ans 1. Quantetative

X 2. Quantitativ

< 3. Quantitetive

' 2 Quantitative

Question ID : 9895807902
Chosen Option : 1

%2 Select the antonym of the given word.

BENIGN
Ans  of 1 Hostile
< 2. Amiable
X 3. Mild
/< 4. Genial

Question ID : 9895807895
Chosen Option : 3
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L

)

Q1 mﬁﬁmmﬂm#ﬁ‘ﬁmﬁmmﬂmﬁmaﬁmm%\
Ans STE o

X 2 'ﬂﬁm FT

X5 Ee

X4 FIT T F BT

Question ID : 9895806677
Chosen Option : --

Comprehension:
frafafea seamr & Rea wet # 9fS s &
A foT a1v geat F agEn Hfw -

FAERE 7 FU WA F Foaar § TG 9T HIH
(1) Fr @@= &1 off| =afFdca F = &

gr, 3T (2) & @i ol FerEa =@

FROT 3! AGHaT H o TH (3) &, aterar

H off U HARF IR g, ST 3FH Haar ¥

HO® 3% ey A FAER T g Hiaar H a1 39

Ui = I [&fdse aE-9g9e #1, 38+ difhs
(4) T FFET I Far TS| TET H T

Fiaca ot Irg Tufaat &, =7 gga arer &

ST § IO Telifeha IRETRG g =T

g1 AEIEET T T IaeETa AT FgeTa F TE

3T I AR (5) TaTg Ofed U aTe

T E

SubQuestion No : 2

* sz # @Hfad REa wue (1) % fw saged
oreg IR
Ans of | FET

< 2 gfgreg

X s faa

X 4 9T

Question ID : 9895806668
Chosen Option : --

Comprehension:
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frfofae sgamr & Rea vt & 9f g &
A foT a1v geat F agEn Hfw -

FEIGET o SH TASH H Fgar ¥ 9F AT 3
(1) Fr @ #r o =afdFdcg Fr T &
e, ZERT _ (2) FT @ ot Ferad s6
FRUT 30T SGHhaT H 8 TH (3) &, TR
H off U HIARF IR g, ST 3FDT Hiaar &
O 39F eT F 3R AT g1 Hiear F ar 39
g Fa 9o [aferee g8 &7, 38+ HifFs
(4) T HFET I AT TAST| TET H T

Fiaca ot arg Tufaat &, =9 vea ar &
SEaTgsife § -9 AR aRERE gar =ear
g1 AEEET F T FTSIT AR FESIT FOTF
3T I AR (5) TaTg ufed F= Tmew
T B
SubQuestion No : 3

* sz # Ffad fwd e (2) % Rw 3wged
reg g1

Ans Klqﬂm
< 2. GHeAdT
v 5 grdeRar
X 4 aRerar

Question ID : 9895806669
Chosen Option : --

Comprehension:
frafafe wgzmer & Rea wo=t $r 9fd gz &
Jrr fTT T oAt AR HIFAT -

FERET o SH TAH H Fgdr ¥ 9F AT 3

(1) Fr @ #r o =afFace Fr = &
TEnL IR (2) Fr @ ot wafRa ==
FROT 3T THT H o TF (3) &, Ierar
H &ff U HTARE IIeRIT g, ST 35T Hiadr &
H 3eTch 7T & 3APR g g Hiaar ¥ ar 38
g = arer fafise aE-gweT @1, 35+ difFs

(4) T HFET I FET TAST| ITEH H TY
ﬁﬁwaﬂﬁt&mﬂ, =T 9¢ 9Tl Sl
ST ® G- HTellfhd IieA e ghar =refar
g1 AEEET F T FASET HR FESET F UH
AT U= AR (5) TaTg ufed Fa TTew
T Fl
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SubQuestion No : 4
¥ areiar # "t e Tuw (3) & T swge
oreg g
Ans ?{ 1. m
X 2 T
v o felgeten

< 4 FTedr

Question ID : 9895806670
Chosen Option : --

Comprehension:
fr=faf@a sy & Rea su=t & qfd gz &
A foT 1T weat F HFER HIAT -

FERET o SH TAH H Fgdr ¥ 9F AT 3
(1) Fr @ #r o =afFace Fr = &
qEL, IHHAT _ (2) F TS 87| FrtEaa 4@
FROT 3T THT H o TF (3) &, TTerar
H s T% HANE Iy §, T 3AST Hiadr &
HF 3A% T H IAPR &Iam g1 Hiadr H dr 39
T F= T BfEre aE-ywer #7, 35% it
(4) T HFET 9T FGT TASTT| TSH H FTeY

Faca o arg fPufadt @, T 9= are &
ST ® G997 ATl T IieA e ghar =rofar
g1 AEET F TET FTSIT HR FgSATT H TH
AT U= AR (5) TaTg Ofed U aTe
T Fl
SubQuestion No : 5

® sz # FHlaT A U (4) F fe e
reg g

Ans v BT
X 2. 3R
<5 oaew
4 3T

Question ID : 9895806671
Chosen Option : --

Comprehension:
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frafafe wgamer & Rea wu=t $r qfd agamer &
A foT 1T west F AR HIST -

Aglear & S8 §AS H Ao ¥ 919 9] HI
(1) &Fr @ Fr O TFaT FF @ &

TE 3R (2) #Fr wr o warfRT ==
FHROT 3eTehT HTHaT H o TF (3) &, FTear
F off v AT IR §, ST 3 Haar &
H 3Tk 6T H IAER ET g Hiear ¥ ar 39
9T T e [&AfisT sE-9TeT F, 30F diieed
_ (4) T HEFEL 9T @l FIdT| ST H Far
FlacT o arg feufadt @, &= 9o ar &
Saasfd § 99T ATetRd aRERE gar =erar
g1 HEIEET T T AT AR IRFSTT F TH
Hega I AT (5) "arg Ofed Fa aTer
T gl
SubQuestion No : 6

® g # FElaT e e (5) ¥ R 3uged
reg grem

Ans X1 e
X 2 siifaes
X3 areilfer
v i

Question ID : 9895806672
Chosen Option : --

Q7 fyw 1w g # tw@ifha w5 @ woeufa w & BT s9ged Rebed @1 waa H
FUNE 3 €T T ST GEUAT T
Ans 1 e
v g
X 3 HIeTT
X o Ageng

Question ID : 9895806662
Chosen Option : --

Q8 fw 1w arrr # Iwifra wWs @ wiaraE w & B s9gea Rk @ waa H=
SH W IS AEIE OW W HGE &, IF T g1 AgT @iev|

Ans 1 3AFT
X2 gfgra
X s HHE
v i e
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Question ID : 9895806661
Chosen Option : --

®® Rw T weg = FEEH I

e

Ans X1 A
X 2 IET
X 3 Heda
VR

Question ID : 9895806673
Chosen Option : --

% R T T F 3 AT A9 A S S IR 2
ArgeT & A & TeiEr 99 & geet B
X1 e Bl

X 2 3 FT FIET
Ko wd @

v AgeT #w

Ans

Question ID : 9895806658
Chosen Option : --

Q1 forfofla # & 50 Rehed &1 o FT Sl ‘Fror-aTel, T FFR F I ST FHar B
Ans X1 gret @ FEET

X2 AT B AT

v i TFe T Ffears & §9=T

X o HiSaTs gre

Question ID : 9895806678
Chosen Option : --

% R we # e F R ST weE @ wae aX

W T F AT w5 gl

Ans Jl. tfﬁ_r
X 2 of e
X3 T
X 4 TiEr

Question ID : 9895806666
Chosen Option : --
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% R ww & o ¥ R swEa e F 9T F

JHA HEaAd Tl HT SHoT gul
Ans xlm

X 2. 9reTer

v s Twer

X 4 TFeT

Question ID : 9895806663
Chosen Option : --

! fro AT e ¥ qUTOETEN e FT 9US FY

HIHYOT

Ans (l. m
X 2 g
X 3. A
XK o FHT

Question ID : 9895806676
Chosen Option : --

%l ROy T Ty ¥ T T o At

o 7o #5 g 7 @
A 1 s

X2 gEa

v o I

X 4 i

Question ID : 9895806679
Chosen Option : --

% R a1 Ree =
i
Ans Xl- -%lE'
X2 g¥
A = germ
v e

Question ID : 9895806674
Chosen Option : --

Q1
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T Y Ty F Bv o as A
HH T ST I qreT
Ans o1 gt
v 2 Aga
X 3 FHEER
K4 e

Question ID : 9895806680
Chosen Option : --

% R av aww &1 97 &er A| R Swd IR P

AT F § UF Hed AGS Tk Foll H AT AR F o
A K 1 T el B AT

X 2 #gFd AlAT

X3 g | arEm
Vo AT A /=

Question ID : 9895806659
Chosen Option : --

% R we & s ¥ v saEg e F 9T F

A Fgall H gl
Ans X 1. HTAT

X 2 =T

VoS

X 4 FATAT

Question ID : 9895806664
Chosen Option : --

%2 BT oTv T w1 3 A AE S B 3§

S =afFa wfoe ofesm 7 T § 9ften # gwear 9 78 =
ine X1 ftr ofsm 78 wear

v Fr g

X 3. Rear 9Teg AgT AT

X4 g offer &

Question ID : 9895806657
Chosen Option : --

Q.2
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1 R o amw & Wifea @ 7 sfowafa &= F R sugea ReeT F1 w9 &

HITETT FUT 87, _TAA A AT &t am I A

St

Ans

Question ID : 9895806660
Chosen Option : --

% T T A e & I
" X s

v g

X o sfafE

X o g

Question ID : 9895806681
Chosen Option : --

%? faw 9T e ¥ TUOETEN e FT 94T Fi

a7ty

Ans X]-' EI"I-'J-'!'
X2 B
Vo o
< 4 &THAT

Question ID : 9895806675
Chosen Option : --

% ReFa T s F AT 359G el F w9
FOIT HIETT JIT FII

Ans Xlﬁ
X @

-
K4 9T

Question ID : 9895806665
Chosen Option : --

% T I3 T e FT TS =
Ans XL wfreTer
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X 2. ATAgTeT
v 3 FAETer
P GIRES

Question ID : 9895806682
Chosen Option : --
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